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8 2 2

+2mr  (m 3R
6 + —7TJZ )

1 i 1.
2\ 6)= 4 "%
~ L (cos Zr 4
z = 9 O§6
1
2

3 i)
(cos 27r+zsm 27r

=160k &,

24 = 7‘24

(cosB+ising) (ro >0, 0SB <2m) &BC L
(cos4p + isin4f)



—16 = 2%(cosm +isinm) £

ro = 2
48 =7+ 2nm  (n 13EE)

=g

2<cos%+ism%>:\/§+\/§i
L 2(cos%ﬂ+ism%ﬂ):—\/§+\/§z
2(cos%7r+zsm%7r):—\/—— 21
2(cos£ﬂ+zsm%w):\/_—\/§i
kXD
z:—%i, §+%z‘, V2 + V2, —V2 +V2i
[3] (1) Z:%-%m@m%

(2) z:cos% +isin% LREDLPDS

z6:cos6?7r +isin%r =cosm+isinm = —1

(3) (1) &V 22=1, 242=/3THsH1H
|22+z+1|:|z2—|—z—|—z;|
=|z(z+1+72)|
=|z|lz+2z+1]
=zl[V3+1]
=V3+1
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4) (2) £V 20 = 1 TH o5

|28+ 274+ 20+ 25+ 24 + 23+ 22+ 2+ 1]
=|-22—z—-1+25+24+28+22+2+1]|
=|z5—|—z4—|—z3|

=[23(z" + 2+ 1)|

=|23|| 22+ 2+ 1]
=|z’| 22+ 241
=V3+1
[4] (V34" =1 +i)"
T isin )V = (T isin )L
<:>{2(cos 6 + 4 sin 6>} {ﬁ(cos 1 + 4 sin 4)}

<~ 2™ {cos (%TF) + i sin (

cn|§
3
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—
I
©
3
— =
(e}
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3
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m EZHET DL

£oT

IND, G2oNHBRRO—KHET, Z02H n RN OBREELLZDIE k= -1
DEETHDH. XoT, KDDH M, nl
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(5] (1) 2 —a® = (z —a)(z* + 23a + 2% + za® + a*)

(2) T . .om\® 5 .. b5
(cosl—0+zsm1—0> :cosﬁw+zsm1—0ﬂ

™ LT
= COS — +18In —

2 2
=1

= i ) Si i D\
(3) z = cos 19 T isin 1OL YT, (2) &

25 =3
it=1ThHor0o
25 =i
(1) OHEESHROKER A &
(z—i)(2* 4+ 2% + 2%% 4+ 23 +i*) =0

(z—i) (2" +iz® =22 —iz+1)=0

5

21 &0
A4t 2 —iz41=0

2% 07200l % 22 THoTLw,
2, ) 1
22tiz—1-—+—=5=0
z 4
24 +i(z-1)-1=0
z z

B 1 2, 1 12, o 2 .
t=z-—X0, 245 =(2-=) +2=24+2TH225

z
2+it+1=0
t::l%ia

t=z— L 7= 2¢nTThY. sinl >0 THENE
z 10 10

2
t_._lgvgiuﬁﬁé
(4) (3) £V
C T 145 .
2zs1n10— 5 7
. —l-i-\/g
A0 T T 4
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[1] 2"=1 D120k % HWwT

z =r(cosf + isind)
EBCE, zl=1 &0

r=1 z =cosf +isinf
n=2nktx Y
A
2% = cos260 +isin20 = 1 n—29
L7225 T
cos20 =1, sin20=0
0=kr (kiZEHK 1 1
z==+1 (K1)
FRIZLT, n=3 D& X
—1++/3i o
z=1 ——

%] 2
S @)

n=4nkx

z==41, +i (93)

n=4 Yy
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